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1)  A's salary is 50% more than that of B. Then B's salary 
is less than that of A by 

a) 33 
14 %  b) 50% 

c) 44 
12 %  d) 33 

13 %  

 
2) Two numbers are less than a third number by 30% 
and 37% respectively. The per cent by which the 
second number is less than the first is 
a) 4%      b) 10% c) 3%       d) 7% 
 

3) Two numbers are respectively 12 
12  % and 25% more 

than a third number. The first number as percentage of 
second number is 
a) 75      b) 50  c) 90      d) 60 
 
4)  A  number  when  reduced  by  10%  gives  30.  The 
number is 

a) 40  b) 33
12 

c) 35  d) 33 
13 

 
5)  If  the  salary  of  Manoj  is  40%  less  than  that  of 
Subhash, then by how much percentage is the salary of 
Subhash more than that of Manoj? 

a) 66 
23 % b) 60% 

c) 65%  d) 66 
14 % 

 
6)  If  A's  height  is  10%  more  than  B's  height,  by  how 
much per cent less is B's height than that of A ? 

a) 10 
111 %  b) 10% 

c) 9 
111 %  d) 10 

19 % 

 
7) If a number x is 10% less than another number y and 
y is 10% more than 125, then x is equal to : 
a) 140.55  b) 150 
c) 123.75  d) 143 
 
 

 
8) Which number is 40% less than 90 ? 
a) 50       b) 36   c) 60       d) 54 
 
 
9) If x is 10% more than y, then by what per cent is y 
less than x ? 

a) 8 
111 %  b) 9 

111 % 

c) 10 
111 %  d) 7 

111 % 

 
10) B got 20% marks less than A. What per cent marks 
did A got more than B ? 
a) 12%  b) 20% 
c) 80%  d) 25% 
 

11) How much 66 
23 % of Rs. 312 exceeds Rs. 200? 

a) Rs. 8   b) Rs. 96 
c) Rs. 104 d) Rs. 4 
 
12) If x is less than y by 25% then y exceed x by: 

a) 75%  b) 33 
13 % 

c) 66 
23 %             d) 25% 

 
13) If x earns 25% more than y. What percent less does 
y earn than x ? 
a) 20%  b) 16% 
c) 25%  d) 10% 
 
14) x is 5 times longer than y. The percentage by which 
y is less than x is : 
a) 80%  b) 50% 
c) 70%  d) 40% 
 
15) The difference of two numbers is 20% of the larger 
number. If the smaller number is 20, the larger number 
is : 
a) 50  b) 25 
c) 80  d) 45 
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16) The percentage change in a number when it is first 
decreased by 10% and then increased by 10% is 
a) 0.1 % decrease b) 0.1 % increase 
c) No changes  d) 1 % decrease 
 
17) A's income is 25% more than B's income. B's income 
is what per cent of A's income ? 
a) 50  b) 80 
c) 25  d) 75 
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